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SPRAT

BR. NAZIV VRSTA |POVRSINA | KOEF.| KORISNA
PROSTORIJE PODA PODA POVRSINA
1 |Ulaz ker. plo€ice 8.07 m2[ 1.00 8.07 m2
2 |Kupatilo ker. plodice 3.60m2[ 1.00 3.60 m2
2a [Kupatilo ker. ploCice 410 m2| 1.00 4.10 m2
3 |Kuhinja ker. plodice 285 m2[ 1.00 2.85 m2
4 |Dnevna soba parket 1879 m2| 1.00 18.79 m2
5 |Soba parket 9.00 m2[ 1.00 9.00 m2
6 |DegaZman parket 434 m2| 1.00 4.34 m2
7 |Soba parket 11.10m2| 1.00 11.10 m2
8 [Soba parket 850 m2[ 1.00 8.50 m2
9 |Garderober parket 3.86 m2[ 1.00 3.86 m2
10 [Soba parket 13.25m2| 1.00 13.25 m2
11 |Ostava ker. plo€ice 066 m2[ 1.00 0.66 m2
12 [Terasa ker. plo€ice 286 m2[ 1.00 2.86 m2
13 |Ostava ker. plo€ice 1.04 m2| 1.00 1.04 m2
14 |Terasa ker. plo€ice 368 m2[ 1.00 3.68 m2
UKUPNO: 95.70 m2
komercijalna povriina k-0,97: m2
BROJ UGOVORA
kontakt tel.
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